SRTEE BREREXE FEFET=AKRE
SFTHE4A4R 24~25H
BT TRET=22—h

BFUTNAR

1 /NE (Bt vG) 1 5

2 Veik (i) 17 =

3 i (B L) 16 3.1

4 Pere R (5 1) 9 =

5 ZH (B Z) 24 o

6 FiIH (B HIEE) 25 .

7 B () 8 o
8 HiE (P o ) 5 73

9 filitE (B %) 21 =

10 = (R 79) 12 -

11 @+ (%) 13 —

12 Bl (i) 20 94

13 = (BT D) 4 i
14 15 (75 1 °57) 3 o

15 M| (B H1580) 19 .

16 1&)11 (%) 14 3-3

17 Tk (5 T) 11 .

18 -i#f (i) 22 9.6

19 i (B54) 6 4o
20 A CLED) 7 77
21 fexe R (FiR) 23 5
22 # E (% T.) 10 34
23 HLHp (BZ74) 15 =
24 BRJF (BqtE ) 18 9-8
25 K4 (1 5 5) 2




